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1、 微積分試題（每題10分，共50分）
1. Evalute the integral 
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2. Use the method of Lagrange to maximize 
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    to the condition that 
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3. Set 
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. Evalute the limit 
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4. Find the values of 
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5. Let 
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 be a continuous function. If 
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2、 線性代數試題（每題10分，共50分）

1. Let the vectors 
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generate the space 
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.  Find a subset of the set 
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2. Let 
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.  Find an invertible 
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 and a diagonal matrix such that 
[image: image23.wmf]1

QAQD

-

=

.   
3. Let 
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 be the subspace of, with the standard inner product, generated by the vectors 
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Find the orthogonal projection of 
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4. Find a Jordan canonical form for the matrix
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5. Let 
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不得使用計算機或任何儀具。








（第2頁，共2頁）
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